
=1
So a group invariant h, i implies Og are unitary O†

gOg = 1



Og
~f
(⌫)
b = ~f

(⌫)
d D

(⌫)
db (g)

"typo" should read



blocks



Vibrational Modes

Zero Modes

D(1)

D(2)

D(3)

D(3)

This is a quick preview of the fifinal answer. The six modes on
the previous page will look like this. We also show to
which repsentation, D, they belong.





two pages forward

See slides two pages forward



See slide one page forward



Three vectors in the space

�e(1)
11,1 �e(3)

21,1�e(3)
11,1

Partners in the D(3) irreducible rep







Zero Mode Eigenvectors

D(2) D(3)



On the next page

On the next page

(Actually it is one page back)



-

Subtracting Center of Mass Motion or Zero Modes





Vibrational Modes

Zero Modes

D(1)

D(2)

D(3)

D(3)


